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258] 3 | 2 [=mE BIRGEE |EEpi 880 1,819,533
259] 3 | 4 |[xEugsms B B B |BEREEET (SRR 31,467 1,788,066
260] 3 | 6 = ¥ B |DJrOYIULHESEERCED) ERD) 203| 1,787,863
261] 3| 7 = ¥ B |REFIC-#ERNCED) R 1,350] 1,786,513
262| 3 |10|=@® LGRS s 1,250] 1,785,263
263] 3 |11 £ ¥ B |PCT-omBEEE D) R 1,206 1,784,057
264 3 |13|x=mE GIRGEE |EEpi 800| 1,783,257
265| 3 |17 A B |BEWREDEE3ADBNE SR 13,700 1,769,557
266] 3 |17 A B |BEmRanBE38sEE SRA) 845| 1,768,712
267] 3|19 = ¥ B |HESR0Rmt (SR 785| 1,767,927
268| 3 | 21— Ax—YEEEE GCHRARE |[R—AN—YESE EaR ISV v TTL— R) (SEIE 28,612] 1,739,315
269| 3 |25|=miE = ¥ B |EHARE(2025548%) X 18,000( 1,721,315
270 3 |25|misE £ ¥ B |SHHEEE28D) X9 2,957 1,718,358
271| 3 |25|smesmAs = ¥ B |SHMSEARTY YY) (8L 28,760] 1,689,598
272] 3 |27 = ¥ B |OE—HU-2R (389 ERD 1,178 1,688,420
273] 3 |27 = ¥ B|UYISAD(38D) (BRME) 374 1,688,046
274] 3 |27|zmE LRLRE [57Y—H 2,800] 1,685,246
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Fo6ShkI (EO5FRER)

B 6FE BF5aeIERETIRSE <3E BLT ETve:

fARES i 2 - .
275 3 (28 ZRINEEE |issuesBERNIE TS5 (3/28~145 B%) 8,778 1,676,468
276] 3 |30|zz@E LRILRE |90 — 1,800 1,674,668
277] 3 |30|zz@E LRILRE |90 — 2,600 1,672,068
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